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The Christmas Open, which starts today at Legacy House, Mill Point Rd./Frasers Lane, S. Perth at 1pm, gives players a last opportunity for some serious chess before the holiday period.  Get along by 12.30pm to enrol in the final 2005 WA Grand Prix 6 round event today and tomorrow.  Rounds 1-3 are played today 1pm to 7.30pm and rounds 4-6 from 11am to 5.30pm tomorrow.  WA’s top rated player Tristan Boyd will be hoping to finish with another title after winning the recent Willetton Open.  Here is his winning combination against the runner-up in that event (Boyd-Hare, White to play).  Can you find his winning idea (3 moves)?
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Since Deep Blue’s victory over Gary Kasparov in 1997 Man has seemed to find the battle against the computer ever more difficult with top ranking Michael Adams falling 0.5-5.5 against Hydra in June this year.  In a 3 player team event in Bilboa, Spain, 3 former FIDE champions, Rustam Kasimzhanov, Alexander Khalifman and Ruslan Ponomariov are pitted against 3 top computers, Hydra, Junior and Fritz.  Another Adams-like massacre seemed possible after the machines won all 3 Round 1 games.  However the humans bounced back with a win and 2 draws in Round 2.  Here is their win:




     R  PONOMARIOV   -   FRITZ




       Man v Machine, Bilboa 2005



 1    d4  
Nf6  


 2    c3(a)  
d5



 3    Bf4  
Bf5 


 4    e3  
e6



 5    Qb3  
Nbd7(b) 

 6    Qxb7  
Bd6



 7    Bxd6  
cxd6 


 8    Qa6  
Rb8



 9    Qa3  
Qb6  


10   b4  
0-0



11   Nd2  
e5  


12   Ngf3  
Qc7



13   Ba6  
e4 


14   Ng1  
Rb6



15   Rc1 
Nb8 


16   Be2  
Rc8 



17   Bd1 
Bd7 


18   Ne2 
Bb5



19   0-0  
Nbd7 


20   Nb3  
h5



21   Re1  
h4 


22   h3  
Rb7



23   Na5 
Rbb8 


24   Ba4  
a6



25   Bb3  
Nb6 


26   Qb2  
Qd7



27   a3  
Rc7 


28   Qa2  
Rbc8



29   Nf4  
Qf5(c)


30   a4  
Bd3



31   g4?(d)  
hxg3  


32   fxg
g5



33   g4  
Qh7 


34   Nh5  
Nxh5



35   gxh5 
Qxh5+ 

36   Qh2 
Qh4



37   Kg2 
Rxc3 


38   Rxc3 
Rxc3



39   Qg3 
Bc2?(e) 

40   Qxh4 
gxh4



41   Rc1!  
Rxb3?(f) 

42   Nxb3 
Bxb3



43   a5  
Nc4  


44   b5  
Ba4



45   bxa6  
Bc6  


46   a7  
Ba8



47   a6  
Kg7 


48   Rb1 
resigns

a)  A quiet, little analysed opening is considered the best way to face the encyclopaedic knowledge and tactical abilities of the top computers.

b)  Black’s opening tempi gains do not compensate for the pawn loss: 5...b6 was better.

c)  An alternative was 29...Rxc3  30 Rxc3, Rxc3  31 Nxd5, Nfxd5  32 Bxc5, Bd3.

d)  Ponomariov’s hand froze as he made this move, his hand remaining on the pawn for 15 seconds.  He had momentarily forgotten the en passant rule!

e)  With a completely won game Fritz incorrectly calculates that the coming pin on its bishop is not to be feared – how wrong!

f)  A move which nets 2 pieces for a rook and loses the game!  Depite being able to calculate at 200 million moves a second the computer cannot see as far ahead as the tunnel-visioned, intuative human. Better was 41...Bxb3  42 Rxc3, Bxa4. 

Universal Events Promotions has offered to guarantee US$1,000,000 for a World Championship reunification match between FIDE champion Veselin Topolov and ‘Classical’ champion Vladimir Kramnik in 2006 (each player receiving half). Unfortunately Topolov and FIDE, whose policy dictates it receives 20% of prize money, have rejected the offer.

SOLUTION:  1 Bc4!! If 1...Bxc4  2 Rxd7! or 1...Bxe4  2 Bxf7+, Kg7  3 Qh6#.

